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Exit Ticket: Percent of Change

1

The circulation of a newsletter decreased from 5200 to 3140.
Find the percent of decrease in circulation to the nearest
percent.

The viewership of a television show has decreased from 5.1 million
viewers to 3.5 million viewers per episode. Find the percent of
decrease in viewership to the nearest percent.

Sarah is currently making $33,000 a year at her job and has been
offered a raise to $37,950 per year. What would be the percent increase
in her salary?
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1 40%
2 31%
3 15%
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